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NADP R4BESES (NADPase) RFIEBEAE

DIEFREEE 50 B/48 K

% A FRXNERSSLE 2-3 MEE SR ARREAR MU E

MEREX :

NADPase T2 AFE T DAL T, ZAEMIKRN M1 NADP FEf# N NAD [HEE, 5 NADK —i@ifijfz
NAD HI NADP 2 Al f1-F- .

e FRIE:
NADPase E# i {t. NADP* /K fi#t 9 NAD+FICHLIE I R N, 38 I 2 oML I F 5k U %2 NADPase 7514 .

PR ey (L B8N -
AR ERAKE . SO, PR 1 mL BOELEGI, BHE. DORIZRIRK

WIAILERRFOECH «

PEHUR: 60mLx1 i, 4°CIRAF.

WA= Witk 30 mLx1 3, 4CLRAE.

B xS 3, -20°CHRA7: RSN 1 mL 350 — R/ IR & . A 521038051 7 2 )5 -20 C AR AT,

AR b IR R

WA= WX I, 4CHRTE. FIBIIN 25mL 248K, s 4 Cr T — /.

WRAIPY: HFx1 I, 4CHAF. FBRIA 25mL Z8187K, RS 4 Crlf-7E— .

WAL Wifk 25mLx1 i, R

RF7S: 10mmol/L ARSI 10mLx1 I, 4°CHRAE.

0.5pmol/mL ArAEBERLFHRECH]: KXFAI7S 20 (5#RE, B 0.5mL 777500 9.5 Z&1/K, 7R .

SEBHRFAECH]: 3% HoO: B =R I R Fi=2: 10101 B LR Ee ), B s (4 k7
ROERIE G, FHIENARARAL, W a5 gy, & BT IR .

R ISR RET PR . SRR B REMRAS, RT DU — IR SRR L, 3Bk G S G

HARRATRE:
HIBHAFE (g « RBUBAEMRmMLY N 1: 5~10 (HH] CRIHREXNZ 0.1g 4L, i ImL 28GR, #
ITUKIRAIH . 8000g 4°CEE 0> 10min, HU EiE, Huk B4R,

BRIELER:
1. B S B
RALIH (UL e & S IR
A — 300 300
177 - 100 100
37°C OHELEIY) B 25°C (HEWM) ik Smin
HEA 100

ZEIRIK 100
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37°C OWELEN) 80 25°C (GLEWM) iR 30min J5, 95C/KIE Smin (%%, BIBHIEKAEUR), ¥
HJ5, 10000g 25°C 0> Smin, B3

2. SERE
PRAEE TEE e i X R
0.5pmol/ml A7 HERE R FH 100
MK 100
IEW 100 100
SE 7 1000 1000 1000 1000

WBE), 37°C (YD) 5 25°C (FHeFl) /K 30min, BWHIEER, 76 660nm &b, ZMAKHE, i3k
HEWICIE .

AEE:

I WA RATIRE . REG PUEKHE o BT RORTHINE B RS R ™ i, S0 — i, 35 e O B AR
PERRER M, — 8 BRI R T, ER SRR IR R, B RoKeh, e KT &
U P — IR VE SRV BB B, 8 S S GRS I ) DR B

2. ARAEE L AN IR R B R,

NADPase BEEMHHHE:
1. TR AR T
SE X BRI T4 418 (3 NADPase 43 NADP 72/ 1umol JEHLBE I A— 1 NADPase i /1 8417,
NADPase (umol/h/mg prot)=(C iR xV S)x(A Ml & & -A ST IRE (A IrEE-A TFHE)+

(V FExCpr)=T=5%(A M5E & -A X HE)~(A bk E-A 751 E)+Cpr
2. FEFEARGE A
€ M [/NNAE g 2023 NADPase 43 NADP 774 1umol TLAHLB M) &y —4 NADPase i /1 H47.
NADPase (umol/h/g 2 H)=(C FrifE B xV )x(A I EE-A FHERE) (A FrilEE-A TFHE) x
V E(Wx V FEV FER)-T=5x(A M2 E-A X EE (A frifEE-A TAE)»W
C bRER: ARMERSVREE, 0.5umol/mL; V & BRIERSSMAR, 0.5mL; V£ IAREAER, 0.1mL ; V
FEA: IANIRBUBARR, 1mL; T: KRMIE, 0.5 /N Cpr: PEAEAREKY, mg/mL; W: FEAEEE,
go




